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(Multiple Cholce Question (MCQ's)
Q.1  Choose the correct answer for each from the given options:
() The net movement of molecules remains in equilibrium when a cell is place din:
{a) Hypotonic solution {b) Hypertonic soiution
{€)1sotonsc soiution (d) None of these
(i)  Which one of the following will not lead to cell-division and cell-slongation?
(&) Auxins (b) Cytokinins (<) Gibbesieblins {d)yEthene
i} Which one of the fallowing i natural method of asexual reaproduction in plants.
(a)Apamixis {b) Eporaformation () Vegototive Propogation
{d) Allof thoge
(iv)  Thecroes which detemrine the homozygosity or heterozygosity of the individual:
{a) Back-cross (b) Test-cross (e) Both (a)and (b)
(d) None of these
v) Aphenomeman of iInheritance in which alleles of contrastig charactars are not
‘complataly dominant over other.
(a) Complete dominance (b) Intermediate dominance
(c)Incomplete dominance  (d) None of these
(vi)  Atype of environment for a particular living organism |s called its:
(@) Habital (b) Population (¢)Symbiosis (d) Ecological- Niche
(vil)  Light zone of ocean ks colled:
(&) Euphotic (b)Aphotic (©)Moritic  (d) None of these
(viil)  Klinefellors syndorome is an axampho of;
(a) Trisomic (b) Monosomic (c)Nullisomic (d) None of these
(x)  Onecomplete tum of ONA confains:
(m) 2 Nucleotides (b) 6 Nucleotides () 10 Nucleotides
(d)20Nucleotides
Section-B
(Short Answar)
Noto: Anawerany TEN of the following questions. Each question carries 02 marks.
Q2  How planis raspend to drought strass?
Q.3  Whydoes wilting of leaves take place in to summer days?
Q.4  Howphenatypic ratio of dihybrid Mendoelli an cross can modl ? Explain.
Q.5 Whatis INCOMPLETE DOMINANCEY
Q8 Givealtomative wrms for ANGIOSPERMIC -EMBRYO-SAC %ENQ RIPENEE
OVERY and RIPENED OVULE
Q.7  Define any Two of the following:
() Phellogan (i) Spikelate (I} Invarsion (Iv) Ploio\k&
08  Distingulsh botwean any “ONE" of the follwoing:
(a) Racemons and cymose inflorescrnece of Marine Habital, O
(b) Apoptosis and nacrosis i 6
Q.0 WhyHOis considered as limiting factor of Ecosystem?
Q.10 Whatis evolutionary significance of diplotene stage’?
Q11 Name and deacrige tha phenamanan by which plants can produce seeds withoul
thair flowers baing fertilized?
Q.12 Glverole of Phylohomromones in plant movemants,
Q.13 How abnormal Eukarytic cell differs form normal Eukarytoic celi?
Q.14 Whatare Heliophytes and Sciophytes?
(Desciiptive Answer)
Nota: Answer any TWO of tha following questions.
0.15 Whatis DIHYBRID cross? Oescribe the law of INHERTIANCE which oxplaine the
Inheritance of dihybrid cross?
0ORrR
A male has co-dominant blood group marries with a femals whose blood group is
Homozygous A both have a male child who marries with a femal with RECESSIVE
blood group, What will bolhochmoesofbloodoromlmhelrdwrenwmk
viith the help of Genetic cross?
Q.16  Whatlis Gene? How does it act, show It In the form of flow chant? HowdﬂmmRNAs
play thair role during ks expression?
Q.17  How seed develops Into seeding? Describe differdal conditions required for this

{ransformation also aive thedr wava?



